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Please check that this question paper contains 34 questions. 2
Please write down the Serial Nnmber of the questmu heﬁmu ;
attempting it.

15 minutes time has been allotted to read this question paper. The question |

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer script during this period.
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Wl ~ SECTION A
o R S TvE A :
* Question numbers 1 to 10 carry 1 mark each. For each of the question
numbers 1 to 10, four alternative choices have been provided, of which
~ only one is correct. Select the correct choice.
T FEw 1 @ 10 7% 5% ¥e7 1 3% # & | 7§ 1 9 10 F 3T 5 F
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feara wdteror x4+ 5x - (@ +1) (0 +6)=0, A o T W R, ¥ g #
(A a+1 a+6

B) (@+1), -—(a+86) |
©) -(a+1), (a +6)
D) —(a+1), -(a+6)

2. The value of a5, — 8y, for the AP. 2,7, 12, 17, ... is

(A) 100

(B) 10

(€) 50

(D) 20

WHR A 2, 7,12, 17, .. F T ag) - ay, @ A &
(A) 100

(B) 10

(€) 50

D) 20

3. In Figure 1, point P is 26 cm away from the centre O of a circle and
the length PT of the tangent drawn from P to the circle is 24 cm.

Then the radius of the circle is

T
P (0]
Figure 1
(A) 25 cm (B) 26 cm
(C) 24 cm (D) 10 cm
30/2/1 3 P.T.O.
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WA 1Y, AR PE M F ¥ O 26 Fht A ghh W R aw P A qw w
¥ wret Y@ PT &t enard 24 ¥ 2 1 @ gw & frowm R -
T
P 0
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(A) 25 It (B) 26 94t
(C) 24 [t (D) 10 =t

In Figure 2, TP and TQ are two tangents to a circle with centre O such
that « POQ = 110°. Then £ PTQ is equal to

P

Q

Figure 2
(A) 55° (B) 70°
) gt (D) 90°

FFfa 2 H, TP a1 TQ Fx O 9t g &' 3 Wyl WKW ¢ a1 £ POQ = 110°
2 1 @ £PTQ sweR 2
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T
Q
3TFfT 2
CA) " 55 (B): 76°
(G 110> (D) 90°
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Figure 3 :
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The dimensions of a metallic cuboid are 100 cm x 80 cm x 64 cm. It is
- melted and recast into a cube. Find the surface area of the cube.

G & o Ffd 100 30 « 80 A x 64 T ¥ | gEE fvn W
T T | SR F JEE e WW A |
relation between x and y such that the point P(x, y) is
ot from the points A(1, 4) and B(- 1, 2). |




'nfﬁ!stnhermsofanA.P whosen temxs5n—1




B P C
FlT 4
Draw a line segment AB of length 7 cm. Taking A as centre, draw a
circle of radius 3 cm and taking B as centre, draw another circle of
radius 2 cm. Construct tangents to each circle from the centre of the
other circle.

OR
Construct an isosceles triangle whose base is 8 cm and altitude 4 cm

and then construct another triangle whose sides are —i— times the

corresponding sides of the isosceles triangle.
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A chord of a circle of radius 10 cm subtends a right angle at the centre.
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m ’wall of a room. If the foot of the ladder is kept
"m ﬂm floor and it is made to lean agamst the opposnte wall of

e ﬁwn walls af the room.
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SECTION D
Question numbers 29 to 34 carry 4 marks each.
¥ TG 29 7 34 % TOF 5T F 4 3% § |

» Two water taps together can fill a tank in 6 hours. The tap of larger
- diameter takes 9 hours less than the smaller one to fill the tank
separately. Find the time in which each tap can separately fill the
I l 7 3 : ’ 3
OR

~ Solve the following equation for x :

LB B 5,:;1-2-4
x+1 x+2 x44
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4. The shadow of a tower standing on a level ground is found to be 30 m s

longer when the sun’s altitude is 30° than when it is 60°. Find the
height of the tower. : :
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